M133 - Series: Extra Problems (2) Sections 11.2 — 11.4 (Solutions)

$$\boxed{\left| \overrightarrow{W} \right|}$$
The function  $f(x) = \frac{\tan(2x)}{6x^2 + 1}$  is not positive on  $[1, \infty)$ , so the integral test deep not apply.  

$$\boxed{\left| \overrightarrow{W} \right|}$$
The function  $f(x) = \frac{1}{x \cdot h_x x}$  is continuous, positive & decreasing on  $[2,\infty]$ , so we may apply the Integral Test:  

$$\int_{1}^{\infty} \frac{1}{x \cdot h_x x} \, dx = h (h \cdot h \cdot x) \Big|_{1}^{\infty} = \infty \quad (divergent)$$
So  $\sum_{n=2}^{\infty} \frac{1}{n \cdot h_n(n)}$  is divergent by the Integral Test.  

$$\boxed{\left| \overrightarrow{W} \right|}$$
After function  $f(x) = e^{-2x} = \frac{1}{e^{2x}}$  is continuous, positive & decreasing on  $[1,\infty]$ , so we may apply the Integral Test:  

$$\boxed{\left| \overrightarrow{W} \right|}$$
After function  $f(x) = e^{-2x} = \frac{1}{e^{2x}}$  is continuous, positive & decreasing on  $[1,\infty]$ , so we may apply the Integral Test:  

$$\boxed{\left| \overrightarrow{V} \right|}$$
After function  $f(x) = e^{-2x} = \frac{1}{e^{2x}} \left| \overrightarrow{v} = 0 - \frac{e^{-2}}{-2} = \frac{e^{-2}}{2} < \infty \quad (\text{convergent})$ 
So  $\sum_{n=1}^{\infty} e^{-2n} dx = \frac{e^{-2x}}{-2} \Big|_{1}^{\infty} = 0 - \frac{e^{-2}}{-2} = \frac{e^{-2}}{2} < \infty \quad (\text{convergent})$ 
So  $\sum_{n=1}^{\infty} e^{-2n} convergent by the Integral Test.
And  $\sum_{n=1}^{\infty} e^{-2n} convergent by the Integral Test.
And  $\sum_{n=1}^{\infty} e^{-2n} = \frac{e^{2x}}{1-e^{2x}} = \frac{1}{e^{2x}} \quad (e^{-2}) (e^{-2})^{n-1}$  is a  $\frac{e^{2n}}{1-e^{2x}} = \frac{e^{-2}}{1-e^{2x}} = \frac{1}{e^{2-1}} \int_{n=1}^{\infty} \frac{1}{1-e^{2-1}} \int_{n=1}^{\infty} \frac{1$$$ 

$$\begin{array}{c} 1, \quad \frac{1}{4} + \frac{1}{8} + \frac{1}{12} + \frac{1}{16} + \frac{1}{20} + \dots = \sum_{n=1}^{\infty} \frac{1}{4n} = \frac{1}{41} \sum_{n=1}^{\infty} \frac{1}{n}. \\ \underline{divergent} \quad (constant multiple of the harmonic series). \\ \hline \\ 8, \quad \sum_{n=1}^{\infty} \frac{1+5^n}{8^n} \quad \underline{conveyent} \quad by \quad \underline{comparison text} : \\ \frac{1+5^n}{8^n} < \frac{5^n + 5^n}{8^n} = \frac{2 \cdot 5^n}{8^n} \\ \frac{1}{2^n} < \frac{5^n + 5^n}{8^n} = 2 \cdot \frac{27}{16} \left(\frac{5}{8}\right)^n \quad \underline{convergent} \quad geometric series). \\ \hline \\ 9, \quad \sum_{n=1}^{\infty} \ln\left(\frac{n^2 + 6}{4n^2 + 3}\right) \quad \underline{divergent} \quad by \quad \underline{text} \quad fn \quad \underline{bivergenxe} : \\ \frac{1}{16^n} & \frac{1}{16^n} = \frac{1}{16^n} \frac{1}{16^n} \quad \underline{convergent} \quad by \quad \underline{text} \quad fn \quad \underline{bivergenxe} : \\ \hline \\ & 10, \quad \sum_{n=1}^{\infty} \ln\left(\frac{n^2 + 6}{4n^2 + 3}\right) = -bn\left(\frac{1}{4}\right) \neq 0 \\ \hline \\ & 10, \quad \sum_{n=1}^{\infty} \frac{-4in^2(n)}{n^8 + 8} \quad \underline{convergent} \quad by \quad \underline{comparison text} : \\ & \frac{-3in^2(n)}{n^8 + 8} \quad \underline{convergent} \quad by \quad \underline{convergent} \quad p-series. \\ \hline \\ & 10, \quad \sum_{n=1}^{\infty} \frac{auctan(200n)}{n^8 + 8} < \frac{1}{n^8 + g} < \frac{1}{n^8} \\ & \frac{27}{n^{1.001}} \quad \underline{convergent} \quad by \quad \underline{text} \quad p-series. \\ \hline \\ & 10, \quad \sum_{n=1}^{\infty} \frac{auctan(200n)}{n^{1.001}} & \underline{convergent} \quad by \quad \underline{text} \quad convergent} \quad p-series. \\ \hline \end{array}$$

(12) 
$$\sum_{n=1}^{\infty} \frac{6n^2(6n-1)!}{(6n+1)!} \frac{divergent}{6n}$$
 by the test for Divergence:  
 $\lim_{n \to \infty} \frac{6n^2(6n-1)!}{(6n+1)!} = \lim_{n \to \infty} \frac{6n^2}{6n(6n+1)} = \lim_{n \to \infty} \frac{n}{6n+1} = \frac{1}{6} \neq 0$   
(3)  $\sum_{n=1}^{\infty} \frac{n}{4n^3+2} \frac{convergent}{6n+3}$  by the Comparison Test  
 $\frac{n}{4n^3+2} < \frac{n}{4n^3} = \frac{1}{4n^2} (convergent p-series)$   
 $\int_{n=1}^{\infty} \frac{n^4}{5n^5-4} \frac{diverges}{5n}$  by the Comparison Test  
 $\frac{n^4}{5n^5-4} > \frac{n^4}{5n^5} = \frac{1}{5n}$   
 $\int_{n=1}^{\infty} \frac{n^4}{5n^5+4} - \frac{1}{2} \frac{1}{5n^5} = \frac{1}{5n}$   
 $\int_{n=1}^{\infty} \frac{n^4}{5n^5+4} - \frac{1}{2} \frac{1}{5n^5} = \frac{1}{5n}$   
 $\int_{n=1}^{\infty} \frac{n^4}{5n^5+4} - \frac{1}{2} \frac{1}{5n^5} = \frac{1}{5n} = \frac{1}{5n}$   
 $\int_{n=1}^{\infty} \frac{n^4}{5n^5+4} - \frac{1}{5n^5} = \frac{1}{5n} = \frac{1}{5n} = \frac{1}{5n}$   
 $\lim_{n \to 1} \frac{n}{5n^5+4} < \frac{n^4}{5n^5} = \frac{1}{5n} = \frac{1}{5n} = \frac{1}{5n}$   
This yields no conclusion Test, with  $b_n = \frac{1}{n} (\frac{1}{2} \frac{1}{2} \frac{a_n}{b_n} + \frac{a_n}{b_n} = \frac{1}{5n^5+4} = \frac{1}{5n^5+$ 

(16) 
$$\sum_{n=1}^{\infty} \frac{5^n}{(-3)^{n-1}} = \sum_{n=1}^{\infty} 5 \cdot \left(-\frac{5}{3}\right)^{n-1} \frac{diveyent}{geometric series} \frac{1}{(\operatorname{ratio} h = -\frac{5}{3}, \operatorname{so} |h| = \frac{5}{3} > 1),$$
  
(F)  $\sum_{n=1}^{\infty} \frac{7^{n+1}}{6^n - 4} \frac{diveyent}{6^n} \operatorname{bg} \frac{Comparison Test:} \frac{7^{n+1}}{6^n - 4} > \frac{7^{n+1}}{6^n} + \frac{7^{n+1}}{6^n} \operatorname{is a diveyent} geometric series (h = \frac{7}{6} > 1)$   
(B)  $1 + \frac{1}{8} + \frac{1}{24} + \frac{1}{64} + \frac{1}{125} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^3} \frac{\operatorname{convergent}}{1 - n^3} \frac{p-\operatorname{series}}{p-\operatorname{series}} (p-3>1)$   
(P)  $\sum_{n=1}^{\infty} \frac{1}{3n+5} - \frac{diverges}{2} \operatorname{by} \frac{\operatorname{Limit} Comparison Test}{n=1 - n^3} \frac{1}{n^{n+1}} \frac{dn = \frac{1}{3n+5}}{n=1 - n^{n+1}} \frac{1}{n^3} \frac{1}{2} - \frac{\operatorname{convergent}}{2} \frac{p-\operatorname{series}}{2} (p-3>1)$   
(P)  $\sum_{n=1}^{\infty} \frac{1}{n+\infty} - \frac{1}{n+\infty} - \frac{n}{2n+5} = \frac{1}{3}$   
(Q)  $1 + \frac{1}{2\sqrt{2}} + \frac{1}{3\sqrt{3}} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^{3/2}} - \frac{\operatorname{convergent}}{2} \frac{p-\operatorname{series}}{2} (p-\frac{2}{2}>1)$   
(Q)  $\sum_{n=1}^{\infty} \frac{e^{V_n}}{n} - \frac{1}{n+\infty} - \frac{1}{2n+5} = \frac{1}{3}$   
(Q)  $1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{2}} - \frac{1}{n^{1/2}} - \frac{\operatorname{convergent}}{2} \frac{p-\operatorname{series}}{2} (p-\frac{2}{2}>1)$   
(Q)  $\sum_{n=1}^{\infty} \frac{e^{V_n}}{n} - \frac{1}{n} - \frac{1}{n^{1/2}} - \frac{1}{n^{1/2}} - \frac{1}{2} \operatorname{convergent} \frac{p-\operatorname{series}}{2} (p-\frac{2}{2}>1)$   
(Q)  $1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{4}} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^{1/2}} - \frac{1}{2} \operatorname{convergent} \frac{p-\operatorname{series}}{2} (p-\frac{2}{2}>1)$   
(Q)  $1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{4}} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^{1/2}} - \frac{1}{2} \operatorname{convergent} \frac{p-\operatorname{series}}{2} (p-\frac{1}{2}<1)$   
(Q)  $1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \frac{1}{\sqrt{4}} + \dots = \sum_{n=1}^{\infty} \frac{1}{n^{1/2}} - \frac{1}{2} \operatorname{convergent} \frac{p-\operatorname{series}}{2} (p-\frac{1}{2}<1)$